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Note : Answer questions from each section as directed. 

SECTION-A 
Answer any two questions from this section in about 

500 words each. 	 2x20=40 

1. In the solov model, what is the condition required 

for steady state growth ? Explain the effect of 

increase in savings rate in this model. 

2. Bring out the main criticisms labelled against 

Keynesian model by Lucas. What has been the 

impact of Lucas' critique on developments in 

macroeconomic theory ? 

3. By using IS-LM curves explain how equilibrium 

in both real sector and monetary sector can be 

attained ? What are the factors on which the 

slopes of IS and LM curves depend ? 

4. What do you understand by rigidities in an 

economy ? Why do rigidities in wage rate and 

price level take place ? 
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SECTION-B 
Answer any five questions from this section in about 

250 words each. 	 5x12=60 
5. Explain why monetary policy is not effective in 

an economy with fixed exchange rate ? 

6. What is meant by rational expectations ? In what 

respects is it different from adaptive 
expectations ? 

7. What are the phases of a business cycle ? Explain 
how political business cycle theory explains the 
fluctuations in output ? 

8. Explain the rationale behind convergence in 

growth rates across countries. Distinguish 
between absolute convergence and conditional 
convergence. 

9. What is meant by natural rate of 
unemployment ? Reconcile between the down 
ward sloping short run phillips curve and the 
vertical long-run phillips curve. 

10. A government should stick to policy rules instead 

of discretionary policies. Comment. 

11. Bring out the major insights of search and 

matching model of unemployment. 

12. Write short notes on the following : 
(a) Permanent income hypothesis 
(b) Liquidity trap 
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